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Wr.13)  F(x)= x‘-gx’w . F'ly) = bkt gt

/
e = 12x 8% . F(x0)- 14 -8
Extrevag: notw. Bed f'(x)e'o

4% - 4x" = x* (4x-4)=0 = X,=0 v Xy° 4

hinv. Bed F”(O)—O? F'C4) = 42.4%~- 9.4 >0
= 7'(4!4 1-2)—(4)~¢)

Wendestelle = F'(x) =0 = >((42><_3):0 =>>(g"0 V¥4=%
FU(0) = 240 ~3 40 = Sabelpuntt (01-1)

FUCLY 4 0 = Wendsklle  mrb (5] P(3))

Da die Funkbtron nuy Q/fm TreFpunht (‘/l-%z) hat
Und F(x) > +t00 Fiv X400 und Fi)>400o by x5-00
sz‘re/:f hoat F gcnau Z /Vu//f/e//en.

Meq6)  $Cxol0) Vot Sabtetpunit von F= f (x)20. F'l)=0
409= x - F(n) fluleo P
q'0x)= 4- F(x) + x- F'(x)
= 9'(x,) = /I°FC5.,)+>(5PE§)=0 v/

q"Cx)= F'(x) +4- Fiex) + x-T(x) = 2-F(x)+x- F'x)

79"(%)= 2 F'(xs) +x F'(xs) =0
=0 =0

g x)= 2 F(x)+ 1 F () +x £ "(x) = 3-F"(x)+Xx - f"(x)
") - Z'f'f(xe)-“&-f'"(xo)#o v Fae x, #0

= /4[/( Beo/lngunj/n [UV 5ai([f“”‘/ an 0/"" ;/,//‘ Xo 3‘0
crhdatlt.



